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1.1fz,=2-3iand z i, express in the form a+ bi

(e = (1) (i) 2425, () £2y
2. 1f z,=3 - i and 2, =2 +3i, find
@ lal @ (i) [z ) 2,23

Verify that |2,

Investigate if |z,] +|22] =

3. () If z=2-3i, plot on an Argand diagram
()22 (i) -3z (i) iz () 2
—1+3i
a-3i
(@) Solve for x and y the equation:

(x+iy)+ (3= i) =2(1-3i) = (y.— x).

(b) Write

in the form x + iy, y € R.

4. (a) Represent the complex numbers z =2 3i and w =1+ 2i on an Argand
diagram.

Whatis () [z Gi) [z +w]?
(b) Express (i) zw (ii) ; n the form a -+ ib, a, bE R.

(e) 1 (3= 5i) = (x + 3i)

6-+0)+(y—xi), x, yER, find x and y.

5. (2) (i) Verify that z, =2+ 3i is a root of the equation
Zodz13=0
(if) Find the value of |z,]

(iii) On an Argand diagram illustrate z, and z,, the image of z, under
central symmetry in the origin.

s
(6) 16a+ bi= 17 where a, b € R, salculate the value of a and the value of

b.

6. Verify that the complex number z, =3~ 2i is a root of the equation
=62 +13=0
and find 25, the other oot of the equation.

On an Argand diagram plot the complex numbers z, and z,.
s the image of z, under central symmetry in ,.
Express 2, in the form a + bi and plot it on an Argand diagram.

Investigate if |2, = 22l = [z| = |z,]. = g
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7. (@ 1z, =3+2iand 2 .

0F @a-m @3

Find (9) 2 ©) 2] 0D
4| _lal
Verify that el \\z/‘

(b) 162 i s a root of the equation 2* + 1z + k=0, L, KER,
find the value of ¢ and the value of k.

i is a root of the equation
0 and write down the other root.

~2iand 2, =4 +i
such that 2, - z, =z,

Plot the three complex numbers z,, iz, and 8~ z, on an Argand diagram and
verify that

V.

A circle is drawn on the Argand diagram having 8 — z, as centre and V39 as
radius. S

Show that this circle contains (passes through) iz,

2y ~8+ 2

9. (a) Solve the equation 22 ~ 4z + 13

=0,2€C, and plot the .
s &€, and plot the roots on an Argand

(6) 1 2,=3 47 and 2, =3+ 41, show that
@ lznl =I5 ) Iz, 2 <aley|
(©) Find x and y € R such that (4-+30)(x + i) = 1 4 7.

10. (a) 1 34 24 is a root of the equation 2* + az +
value of a and the value of b.

(b) Let z, =

Let 2,

=0, where a, b& R, find he

3 and 2= 14
2,4z, and z,= 2
B

Express 2, and z, in the form x 4 yi.

Plot 2, and 2, on an Argand diagram and investigate if the image of
central symmetry in the origin is the same as the image of =, u
symmetry in the real axis (i.e. x-axis).

3-2i, where i = V=T,

23 under
inder axig(

1L Let z

B
Express in the form a + bi, 2 and =

Plot i, z and =2 on an Argand Diagram.
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~2i is a solution of the equation

bz

2 4bztc=0, b, ceR
Find the value of b and the value of ¢

Investigate if |2] = iz|

Give a geometrical interpretation for your answer.

12 @

On the Argand diagram plot the point p which represents the complex
pumber 1+ 2i. What complex number in each of the following is repre-
sented by the image of p under

(i) the

ral symmetry in the origin

(ii) the axial symmetry in the real axis (i.e. the x-axis) after the central
symmetry in the origin

(i) the axigl symmetry in the imaginary axis (i.c. the y-axis)?
(b) Find the values of x, y € R such that

(x—ip) +(y+i)=1-5i where i=V=T
Using these values of x and y express ’; =1

in the form a + ib, where a, b €R, and hence, or otherwise, find the value
of

x-iy

yrix

13. Represent the complex numbers ,
Caleulate 5(z,+ z,).
Verify that |2,z

+iand z, =2~ i on an Argand diagram.

22l

e
Express ~* in the form a + ib and find k such that |2, =k

14. (@) Find the real part and the imaginary part of
2+4i

3=2
(b) Find the value of x and the value of y if
X(3+4i) + 5= y(1+2i).

(9) 2, =3+3i and 2, =2~ 2i, find the image of 2, under central symmetry it

s

1f z, - tz, = ki, where t,k € R, find £ .nd'a' i





